Integral[pix(2sin(-0.12(x-11.72))+14.38)* 2,0,62.72]+Integral[pi*(4.5sin(-0.1(x—-10.4))+10.8)"

Input:
2.72 5.52
f 7(2sn(-0.12 (x — 11.72)) + 14.38)% d x + f 7 (45sn(-0.1(x — 10.4)) + 10.8)2dx
0

62.72

Result:

520739 + 0.1

Alternate form:

52073.9
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[52073.9 ft" 3 to ouncesthen /8 E]

Input interpretation :

1
3 (convert 52073.9t% (cubicfeeitofluid ounce®

Result:

6.2326 x 10%fl 0z (fluid ounces

Unit conversions

48692.5gallons

Comparisonsas volume:

~(0.1~1/10)xcargocapacityofa Boeing747LargeCargoFreighteraircraft~6500at°)

Interpretations:

volume

Basic unit dimensions:

[length]®

Corresponding quantities:

Radiusr of aspherefromV = 4xr¥3:
3.5meters
12 feet
139inches
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